Balance the following chemical equations.
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AOH' — gHzo + O, + 4e¢

PCl; + §H20 — P(OH)3 + §HC[

P4O1o + QHCI — POC[3 + §_HPO3
2Na + 2H,0O - 2NaOH + H>

gMgNH4PO4 —> Mg2P207 + 2NHs; + H.0

A4NO + 2H.O0 + 302, —» 4 HNOs

Al(ClO4)3 + QKBI' — AlBr; + §KC[O4

2 Cu(CN). - 2CuCN + C:3N;

éHCl + Mn0O, - MnClz + gHzo + Clz

2NaOH + H;S50; —» NaS0; + 2H,0

CaHPO42H20 + gNaOH + EHzo — NazHF;I\O412H20 + Ca(OH)z
GO
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3FeSOs + 2Ks[Fe(CN)d] > Fes[Fe(CN)sl. + 3 K>SO,
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2 MgNH,PO, - Mg,P,0; + 2NHs; + H,0

2 H;PO;+ 3BaO0O —» 3 H,O + Bas3(P0i)

2AlBr;+ 3K;SO, —» 6 KBr + Al (S0,);

2HCN + CuSO; —» H,S50; + CU(CN)z

2 Cs7H1100¢ + 163 0, —» 114 CO, + 110 H,O
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ngMnFﬁ + éSbFs —> gMan + éKSbFe + F>

Ba>XeO¢ + gstO4—> 283504 + gHzo + XeO,
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2N33PO4 + §CaCl2 — éNaCl + Cag(PO4)2

NaBrOs; + 5NaBr + 3 H,SO,—» 3 Na50, + 3Br, + 3 H,0

O
2C/HoN + 210, - 14C0O, + 10H.0 + 2NO
O

CaHP0O;.2H,0 + ;N&OH + @HZO — Na,HP0O;.12H,0 + Ca(OH)z
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